


AB is a diameter of a circle with
centre O. A tangent is drawn at
point A. C is a point on the circle
such that BC produced meets the
tangent at P. If ZAPC = 62°, then
find the measure of the minor are
AC.

AB U&% J0 &1 o9 8 a1 o5 o

DI AT ST PIT |
(a) 31° (b) 62°
(c) 28° d) 56°




Two common tangents AC and BD
touch two equal circles each of
radius 7 cm, at points A, C, B and
D, respectively, as shown in the
figure. If the length of BD is 48 cm
what is the length of AC?

3 SHIfTS W3l YEU AB 3R BD, 7
94l f3rar drel &1 SRIeR Al Bl A
Y= "-—|\."t— ﬁ’gGﬁA C, B 3R D W ®W¥ Tl &,

f& ampfa # <ol & 3| A}

Bnﬁa—q'rs‘%ﬁﬁ%?ﬁma‘?rmqs
B

'H.(._._ 9”1— o U#50cm  (b) 40 cm

(c) 48 cm (d) 30 cm




If 3sec?0 + tanf - 7 = 0, Ogg< 90°,
then what 1is the value of
2sinB + 3cosO

cosecH + secO

(S 3sec20 + tanh - 7 = 0, 0< 90°,
2sin0O + 3cosO

ar

cosecH + secO

?

&1 99 &

VLY @

(c) 10 (d) 42



A vertical pole and a vertical tower
are on the same level ground in
such a way that, from the top of
the pole, the angle of elevation of
the top of the tower is 60° and the
angle of depression of the bottom
of the tower is 30°. If the height of
the pole is 24 m, then find the
height of the tower (in m).

U SWEER @™ IR U SR d9R
SHF B UP & I TR 359 UPR © fb
T P MY 9 R & MY &1 S99
BT 60° B MR HANR @& TA BT
I BT 30° B I HER @I
$AE 24 Hex 8 O @™ P s
(Hrex #) 3T i |

(a) 24433 +1) (b) 24(y3 +1)

(c) 72 \/m‘96



The price of petrol shot up by 5%.
Before the hike, the price was Rs.
82 per litre. A man travels 3045
Ekm every month and his car gives
a mileage of 15 km per litre. What
is the increase in the monthly
expenditure (to the nearest Rs.) on
the man’s travel due to the hike in
the petrol price?

USId B BRI H 5% I 3G g2 | IS
¥ Ugdl IHd 82 Uy Afd oiex off|
TS IS 8Y 981 3045 B 9 Im=n
AT & 3R SHal dR 15 fH ufa
e BT HIgAS qal &1 Ui @
oAl A gfE P PR ATAHT B OATAT
R A® g (Mecaq 9 #) #
fea gfE g3 87

(a) 944 (b) 859

(c) 758 Vm’saz



If 8A51468B is divisible by 88, then
what is the value of B - A?

Rt $aS1468, 88 & RwreT & ) B -
A BT AT AT 7

(a) O (b) -1

(51 @z Q1-(r)

-7 ©



Ifa+b+c=6,a2+ b2+ c2 =32,

and a3 + b3 + ¢ = 189, then the
value of abc - 3 is:

[89-3@d=6 (32-2) aRa+bFec- 6, a2 + b2 + ¢2 = 32,

= 180 3R a3+ b3 + c3= 189, A abc -3 &
@ (a) 2 (b) 3
(c) 1 Nar0

O
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The cost prices of two articles A
and B are in the ratio 4 : 5. While
selling these articles, the
shopkeeper gains 10% on article A
and 20% on article B and the

difference in their selling prices is
Rs 480. The difference in the cost
price (in Rs.) of articles B and A is:

A TGN AINRBHIT FI [T 4:5D
FqUId H B T TRGH P T W,
TPFER B TG A W 10% 3R T
B W 20% & oM BT 8 3R 9@
g Jou # SicR 480 TUA 8| I B
IR A @ H 79 P #) 7 IR

faraer 87 <:j>
(a) 250 457 300

(c) 400 (d) 350



In a triangle ABC, D and E are
points on BC such that AD = AE
and ZBAD = ZCAE. If AB = (2p + 3),
BD = 2p, AC = (3q - 1) and CE = q,
then find the value of (p + q).

U% < ABC %, D 3R E, BC W W™
ffig € & AD = AE 3R /BAD -=
/CAE | If¢ AB = (2p + 3) BD = 2p,
AC = (3q-1)3RCE=gq, @ (p +q

¥D € w1 T o
6 vﬂjk s (b) 2 /®

A\ (c) 3.6 (d) 4.5

=



If the length of a diagonal of a
square is (a + b), then the area of

the square is:

It ' T B faPol & Fa1g (a + b)
g, @ 91 &7 A% #:

(a) % (a’ + b?)

. ©

1122, w2
2(a +b% +ab

(d) a’+b*+2ab



A and B are two prime numbers
such that A > B and their LCM is
209. The value of B2 - A is:

7\ AW@:W?WW%%;
[ [x]19 =07 > B S o e e 209 81
B A (a) 109 (b) 111

‘ \Q-'\‘i _er102 (d) 121

©



What will be the total cost (in Rs)
of polishing the curved surface of a
wooden cylinder at rate of Rs. 50
per m?, if its diameter is 70 cm

and height is 6 m? (Take 7 = 22/7)

S N Uh APl @ q9 I 9 TS B 50
ARV ylx o o few & = § i 70
120 P Fa ard (F9F H) @ e, AR

TAPT A 70 JA IR Fa18 6 Hex
8?7 (m = 22/7 =)

@ LAN)660  (b) 612
(d) 624

(c) 675



A solid sphere whose radius is 21
cm is melted and recast into a
regular pyramid of square base. If
height of the pyramid is 66 cm,
then what is the length of each
side of the base of the pyramid?

(Usen = 2)
7

TP o Mo e Brear 21 | 2,
e T 3R TPR IR F T
fraffg e d sga Tar afR
fiife 9 &915 66 WA 2, o fivfs
@ AR B TAD oIl B @d1g a1 87

(vsex=7)
Usent = —
¢ g

(a) 68 cm (b) 85 cm
(6442 cm (d) 48 cm



(a) 10%

(a( 12%

(b) 8%
(d) 5%

Rachit invests Rs 12,000 for a 2-
year period at a certain rate of
simple interest per annum. Prasad
invests Rs 12,000 for a 2-year
period at the same rate of interest
per annum as Rachit, but in
Prasad’s case the interest is
compounded annually. Find the
rate of interest per annum if
Prasad receives Rs 172.80 more as
interest than Rachit at the end of
the 2-year period.

Woa ufd af SRR IS B S
fAf¥ag R W 2 91 9 @y 3 e
12,000 393 &1 A9 oHxar | 99g

Wa & 99 e &I &) W) 2 91
P IafY & forw 12,000 TG &1 Q9
AT 8, oifps F9IE @ AHA W &S
QAT Thgle sral 8 | Ife T o 2
9§ P A @ fq H# AT H g 7
&Iqo d HY ¥ 172.80 TUA IOH
fled € o ufdy ad =91 & )R 9
PN |
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130
- 19
)o-S

_\s

(x>

lo-§—
0o —

Qfﬁnﬁ%

830

@ @

(a) Rs 240 (b) Rs 180
(c) Rs 280 (¢ Rs 200

Akshay has 30 articles, each
having the same cost price. He
marked the price of each article at
30% above its cost price. He sold
15 of the articles at a discount of
20% each, and the remaining 15

MiWO% eac’ﬁ-,-
thereby gaining a profit of Rs
630. What was the cost price of
each article?

IET P U 30 IV B, o9 9
TAS & Hd oI T 8| SR
AP 9 BT I SHD HY g |
30% JAf¥® sifed fhar| 15 awge
B TE TP W 20% P B W
3R AY 15 TR B! TAD W 10%
@ B R 991, 5 o 630 31
BT A U G | TS a%] BT 59
Hed ST DI |



X -y +2z=0, then find the value

of y2 - x2 - z2 .
2xz 2yz 2xy

p 2

?Iﬁx-y+z=0,ﬁ>fy ol

2%z 2yz - 2Xy

(b) 1/2
(d) -3/2



In AABC, D is a point on side BC

such that ZADC = /ZBAC. If CA =12
cm, CD = 8 cm, then CB (incm) = ?

AABC #, D, BC R (& fig & o f&
/ADC = /BAC | 3¢ CA = 12 97,
CD = 8 ¥, fhY CB WX &

A 18 (b) 15

(c) 12 (d) 10



(a) 550
(c) 800

(b) 450
\_I#} 500

In an office of 900 employees, on a
particular day, except for 10% of
the female employees, all
employees were present. On the
next day, except for 8% of the
male employees, all employees
were present. The number of
employees present on each of
these two days was the same. Find
the total number of male

employees on the payrolls of this
office.

900 HHARYI dIel Uh HIAAT H, Tdh
faoy 7 ®, 10% #Afgar FH=ERAT B
Bledy, 9 HHAN) Suferd o | 3FTal
faq, 8% Jo¥ HHaIRAT B BlsHY, FHI
FHAR SRR ¥ 39 qFl feAl H
T e SuRerd wHaRal & S@&r
T Y| 39 HRGI P da9H W)
JoY HHAINGI D A H&AT o
DI |



(a) 51.33 km/hr
(b) 47.67 km/hr

L~c] 53.33 km/hr
(d) 43.67 km/hr

A man rows from J to K (upstream)
and back from K to J (downstream)
in a total time of 15 hours. The

distance between J and K is 300
km. The time taken by the man to
row 9 km downstream is iddentical
to the time taken by him to row 3
km upstream. What is the
approximate speed of the boat in
still water?

U S 15 8¢ & g 999 H J 9
K (@fdas) 7@ 3R K 9 J (3gae)
% 99 3T 81 J 3R K & 9" I
0 300 f&d 8| =fh gRT o)1 @
et 9 fod g a9 &< # forar T
Y 9RT @ ufdge 3 ff @ @3
& ¥ o W B GHRURT 81 wid
o H A9 @ et afa 4T 87



The following pie chart shows the
actual number of photographs

shared by a person on each of 7
different social media platforms.

fforRag o ad 7 ST
YA AfSAr wiew™E § 9 T8 W

UH FRh ERT AET & 1§ TRl DY

(\, aRafa® HEAT B guiar &
7 — 3_60 What is the difference between the
central angles made by sector PS5
?->—§ - ‘ q (10 and sectorgPl? ’
HacX P5 3R WaeY P1 §RT §991¢ Y
DT DIV B T T IHAR 87
(a) 18° (b) 10.8°

“tef 14.4° (d) 21.6°



Factorize the given algebric
expression.

fag Ty domfrd Eee a1 [UREe
PIfOY |

x3 + 27y3 + 6423 - 36xyz

)( (a) (x + 3y + 4z) (x2 + 9y2 + 1622 +

WE : 3xy + 12yz + 4xz)
(b) (x + 3y + 4z) (x2 + 9y2 + 1622 -

12xy - 3yz - 4x2)
){(c) (x - 3y - 4z) (x2 + 9y2 + 1622 -

3xy -12yz - 4x2z)

) (x + 3y + 4z) (x2 + 9y? + 1622 -
3xy -12yz - 4x2z)



An isosceles AMNP is inscribed in a

circle. If MN = MP = 164/5cm, and

NP = 32 cm, what is the radius (in
cm) of the circle?

U% HAfgaIg AMNP U% ga § Scav
2| If¥ MN = MP = 1645 941, 3R NP
;.32'ﬁﬁl7THT$Tf§GUIGﬂﬁiﬂb1ﬁﬁFﬂ
?

(a) 18 (b) 2045
() 185 120



A

Exactly midway between the foot
of two towers P and Q, the angles
of elevation of their tops are 45°
and 60°, respectively. The ratio of
the heights of P and Q is:

VAR PIRQ P IRl & dF a9 ¥,
99 ST T SVIT BT HIT: 45°
3R 60° & P 3R Q & STzl @

U 2

/wﬁﬁ (b) V3:1
(d)3:1

c)1:3



There are two teams I and II of
workers at a bridge construction
site. Each team consists of W
workers. On a particular day, a
worker was shifted from team I to
team II. Now, if the ratio of the
amount of work done by team I in

(W + 1) hours and by team II in (W
+ 2) hours is 10 : 12 , respectively,
then W is equal to:

s Yo e wra wosfRel @t @
SH IR I B TP &9 d W sf®
e &) 5 gy fRe, &9 1 9 &
II ¥ s sife wm=iaRa &) f{ar
e 1 gRT (W + 1) B 3R &9 I
gRT (W + 2) 82 ¥ fdv 10 & &7
UTT HAL: 10 : 12 8, A W TI&N &

(a) 24 (b) 20

(16 (d) 18



B+ =08 —D
2B =80 H+f

G

Q&-C"’P: 360 _,®

?-':- _B_L(-—|8o
<
ﬁgff<:72f><:;.?s’é¢5

In a bookshop, the average number
of Biology, Chemistry and Physics
books is 360. The Biology books
are 180 more than the average
number of Chemistry and Physics
books. The number of Physics
books is 180 less than the average
of Biology and Chemistry books.
What is the number of Chemistry
books in the shop?

e fhaei @ geE A, e s,
g fagm sk Aifder o gl it
da HE&T 360 B o9 fasm @
T, WiEq fagwE iR sifdsr @
T o IET §ET 9 180 @ F|
ATD I gDl H &A1, S fagmE

IR I s 3 gel & 3Ea |
180 &9 8| §PM H THRA @
gDl D G fha 87

(a) 420 (b) 540

(c) 480 \J,dfﬁso



A milkman wants to empty a large
drum full of milk with one of the
four measuring jars of capacities 6,
9, 15 and 18 litres, respectively.
He finds that no matter which jar
he uses to empty the drum; 4 litres
of milk always remains to be
emptied. What is the least possible
capacity of the drum if it is a
multiple of 7?

TP Al @ ¥ R (P 98 §H DI
I 6, 9, 15 3R 18 TS {HaT A

IR HIYH il IR § o U 9§ @rell
ST TrEar 8| 98 U § 5 gH 9l
Grel B34 @ fog =R 78 fal @ oR
& SYART X; 4 oifex g 99T @rell
BT 91! I8aT 8| AR §F 7 BT OIS
g O Sud AW WWIfad &War &
87

m191 litres ((bf 364 litres

X) 94 litres %‘ 187 litres



fx+y+z=11,xy +yz +2x=-6
and x3 + y3 + 23 = 1604, then the
value of xyz is:

ﬂﬁx+y+z=11,xy+yz+zx=-6
3ﬂ?x3+y3+z3= 1604,?ﬁxyzaﬂ
qH

(a) 5 (b) 4
(c) 1 \/Ldﬂ)ﬂs

®




The expression (cos® + sin®§ - 1)
(tan20 + cot2f + 2) + 3 is equal to:

WP (coss) + sinsh - 1) (tan2p +

cot20 + 2) + 3 XN &
0 (b) 2
(C) 1 (d) -1

(39 (L. (/%)Jra



Let AABC ~ POR and 21AASC) 64
ar(AQPR) 169

.IfAB =10 cm, BC = 7 cm and AC
= 16 cm, then PR (in cm) is equal
to:

9T AABC~PQR qer TAABC)_ 64
ar(AQPR) 169

If AB = 10 99, BC = 7 99 3R
AC = 16 99, 79 PR (@ #) W} &

(a) 13 (b) 21

(c) 15 i 26

®




23~

C

CP-100 =
CP-99

e
?B%

123

1= 3

A shopkeeper sells a product at
some loss. If he reduces the selling
price of the product by 5 percent,
his loss increases by 4 percent. At
what loss percent he sells his
product? (Note: Options are

rounded off)

Uh gHMeR fHdl 96 o §9 81 W
d9ar 8| aft 98 SR &1 fAwg qeu 5
Ui 9 X <l 8, df SHH! B 4
R 9% Okl 81 98 U SR
fean ufdea aff ) (gar 87 (A

fawea quiifea €)

(a) 63.63 percent CC)
(b) 35 percent

UeH55.55 percent

(d) 40 percent



A = 1200 - X where X is a real

number. A > 0 and A is divisible by
3,5, 7 and 11. The sum of the two

largest possible value of X is:

A = 1200 - X V8 X U& qrdfdd
WS gl A>03RA 3,5, 73R 11
¥ fivrsy 21 X @ 1 9§ GAifaq
qHE B AT

(a) 45 DE
(c) -110 f(foes




A sum of Rs. 20000 is invested for
three years at compound interest.

The rate of interest for first year is
20 percent per annum, for second

’2% yeas it is 15 percent per annum

= and for third years it is 10 percent
per annum. Find the interest for
the third year.

20000 ¥ P TH RN & THale
a9 W® o a1 & fog e
ro)b*r:}eo Wi 1 vea af @ g @ B
20 ufdera ufd af 8, TR 9§ @ forg
g 15 ufowd ufa 9§ 8 3R R 9y
3%, @ fog 78 10 wfowra wfd af 81 R
o & forg s s PR |

[07- 3 & R 7 (' Rs. 2760 (b) Rs. 2190

(c) Rs. 2620 (d) Rs. 2340



In the following figure, P and Q are
centres of two circles. The circles

are intersecting at points A and B.
PA produced on both the sides
meets the circles at C and D. If

ZCPB = 100°, then find the value
of x.

frr=iferRaa ampfa 3, PR Q A gl &
o5 81 99, g A 3R B & ufdwmg a=
@%lgiemﬁmas’rmw,ag

gal 9 ¢ 3R D W fAah 81 IR
ZCPB = 100° 8, @ x &I ¥4 o4

DI |

(a) 110 (b1'100
(c) 115 (d) 120



If sec29+tan29=3%, 0° <8< 90°

then (cos©® + sin®@ ) is equal to

afe sec°9+tan’9=3l, 0° < < 90°

S ;
‘21 @l (cose + sing ) fgd &R 87
Jfl 23 AN/ “jg
1+.5 9+2J§
= (€) —, (d) —¢



What is the simplified value of the
following?

famforRaa &1 WReftepa 79 &1 87

9+§of(9+6>(4-2)+ l?l'§+i}
7 5 25 |8 16

24 +16-10+36+(5+20+4-1)

“i e B)

- d
CI

-
’

|
s

51

= 'd
56 (%73@
T




If each of the two numbers 516 and
525 are divided by 6, the
remainders are Ri1 and R:
respectively. What is the value of
R, +R, ,

| 34

Ife g7 SRl 516 3R 525 § ¥ UAP
1 6 9 fawforag fear wiar 8 @

AYHS HAT R: 3R Rz ¥ R‘;R’aﬂ

2

A T 87

(@) > wf?@

(©) < (@)



The probabilities of A, B, C solving

1 2
a problem are —,— and =

3 7 8

respectively. If all the three try to

X 5—)( -{-“" &X ’-L—X g +2'—7‘g)(§, solve the problem simultaneously,

7 3 3 ? z 3 a' { find the probability that exactly
one of them will solve it.

A, B, C gRI &l 99 & 8 &
?{ A G FAT -, 2 R S ¥ 3l

Qﬁ ﬁwmmér:ﬁ’rmmﬁm
WO B, df Wifear s s $

I/é/g 56 aﬁﬁz'\:a"liwﬁ‘a'amml

52
25

) s6

13

c ———

() 42
(d) None of these




$2%

A grocer mixes two varieties of
wheat and sells the mixture at Rs
28 per kg to earn a profit of 25%.
If the cost price of the first variety
is twice that of the second, and he
has mixed them in the ratio 2 : 3,
then find the price per kg of the
cheaper variety.

TS GOR T UPR @ g D Aamr 8
AR 25% &1 o A > foag s
P 28 ¥ A fFau™m «w® S=9ar 2|
Ife Ugell f5er &1 ard o TR W
W%Gﬂ?mﬁ23$m
¥ e 8 o 9= s &1 ufa

3R et s %)

(a) Rs 18 (b) Rs 20 @

(c) Rs 14 WS 16



A rectangular wheat field has an
area of 1682 sq. metres whereas its
perimeter is 292 x 3P x 2¢ metres. If
the length and breadth are positive
integers, then find the perimeter.
(It is known that a, b, c are
positive integers.)

UH AMAPR g & Wd & A%
1682 T HleX 8, Wafd sudT ufRHAN
29a x 3b x 2¢ HeX 8| I} oarg iR
AIeE grd Uil 8, Of U9 sma
Do (@8 ST 8 a, b, ¢ TAHD
qurie & |)
(a) 174 metres

) S8 metres

c) 116 metres

) 87 metres



At an election between three
candidates P, Q and R, 20% of the

3-$ votes polled were declared invalid.

T

ut of the valid votes P gets 30%
votes. The remaining valid votes
were shared by Q and R in the
ratio 11 : 9, respectively. If P has
received 150 votes less than R,
then find the total number of votes
polled.

9 SHicaRl P, Q 3R R & 19 &
gqrq § STl ¢ 20% dIC IFag aifta
) oy ) Ay A F P B 30%
dic Ao 1 99 9y 9 Q 3R R RT
BT 11 : 9 B U H W= fHy
| IfT P A R | 150 dIc &9 A
g o S/t Y 91 I o @& Fqd

DI |
_ar12500  (b) 9000

(c) 10500  (d) 15000



3
If % :2 : :3 =16, then find the

value of
\/a2+c‘+e6 +\/b2+d‘+f"
b +d4" 41" a8’ +¢" 49"

!ﬁ? - "- 3-—16 ar

J +c* +ef Jb’+d‘+f6 a—
*‘+d" 21 a +¢ +e¢°

57 256
yART: ®) Te

257 265
c) — d) —
) <5 9 <<



In a triangle ABC, the bisector of
angle BAC meets BC at point D
such that DC = 2BD. If AC-AB =5
cm, then find the length of AB (in

cm).

ABC #® &I BAC @l
m%wmscﬁﬁgnwwm
frear @ f& DC = 2BD 2| IfT AC -
AB = 5 §Hl, O AB 9! da1g (I )
ST B |

& o Cw"(

> (c) 10 @ (d) 12 ('VM/



P can do a task in 30 days, Q is
50% more efficient than P, R can
do the same work in 10 days less
than Q if R and Q start task
together and after X days they left
the task and P completed the
remaining task in (X + 8) days.
Then find the value of X ?

P U& & & 30 34 § &) 9aar 2,
Q P ¥ 50% P FIA 8 R SHI
S P Q ¥ 10 &5 #9 ¥ X gHar
g It R 3R Q U@ W™ & Y& I
g 3R X R @& 1% S=i° &Y BIs
faar ik P 7 9y s g R forr (X
+8) fe=i & o X &1 Ay o9 HRR?

(a) 2 A 4

(c) S (d) 8



N+ ko /.éxs
Dt JIXEB 2

Y =00

Length of train A is half as that of
train B. Train A and B crosses the
platform of length 100 meters in 5
seconds and 6 seconds
respectively. If the ratio of speed
fo train A and B is

2 : 3, find the length of train B.

%7 A B d41g g7 B D wa1g B I
21 29 A 3R B B9 5 Uds AR 6
qds ¥ 100 HeRX dd ©CHH B IR
Yl 21 T 29 A 3R B 9 W &1

IFUIT 2 : 3 8, N 57 B O darg wd

N |
(a) 450 m (/(M’QOO m @
(c) 600 m (d) 900 m



o >
Buw Bue G
10 25 Qo0

A bus can travel a distance of 1330
km in 19 hours. Speed of a bike is
50% less than the speed of the bus
and speed of a cycle is 15 km/h
less than the speed of the bike.

Find the respective ratio of the
time taken by a cycle and bike to
cover a distance of 280 km?

TS §9 19 HS ¥§ 1330 & @1 A
T B GHAl 8, 915 D A §H DI
T | 50% HH & 3R Agfea & 1fa
53 P fa § 15 FH/dHer 9 B
280 f&ft @ & @ I @ fog
aEfea 3R sEd gN faw U W
&1 Hafdrd uTa T Hifrg? Wi

AT 4: 7 (b) 5:7 ')\G.Oq,,\\f" j
QW
(c)7:4 (d) 3:4 6



Two medians PS and RT of A PQR
interest at G at right angles. If PS
=9 cm and RT = 6 cm, then the
length of RS is:

APQR &I g AIfY®I¢ PS 3R RT, G
R 99T R Hfoees &l & | AT PS
= 9 YW 3R RT = 6 WA &, @ RS A
s 2

(a) 3 cm (b) 6 cm

(c) 10 cm Mcm



GRI +6n}

4
~Mde) 112 (d) 713 Y\'}M

_ ey

A hemispherical depression of
diameter 4 cm is cut out from each
face of a cubical block of sides 10
cm. Find the surface area of the
remaining solid (in cm?2). (Use &t =
22/7)

10 9 YOiRll 91 U HoR @S @
VAP b 9 4 9 IYH T T

MEFMATHPR 9RT HIeT T &1 A9 I
&1 IO &9%d (|9R #) F1a PR |

m\g(u = 22/7 HT SYART PIfor)

(a) 900~ ﬁsi @
7 7
1 (W

‘of(/)/



A poster is on top of a building. A
person is standing on the ground
at a distance of 50 m from the
building. The angles of elevation to
the top of the poster and bottom of
the poster are 45° and 30°,
respectively. What is 200% of the
height (in m) of the poster?

UPH TR @ SN UH UGS o &
U% Afth ARG ¥ 50 HEX 3 T W

SN R @Sl 8] dRex @ Y @R
UReY @ MR $ ST DIV HAT:

45° IR 30° §| UREY @I Hag (AR
¥) BT 200% FT 87

(a) —(3 J3) (b) —(3 NEY

(c) —(3 J3) 9/1“(3 J3)



KETKRSA|
-

A river 6 m deep and 35 m wide is
flowing at the rate of 2.5 km/h,

the amount of water that runs into
the sea per minute is:

TP T4l 6 HeX T4 3R 35 Hiex Al
2, 98 2.5 f&f /der & 1f ¥ ' @
g, W% ¥ ufd fFe AR ael o @
qraT foa 87

(a) 8570 m3 (b) 7850 m3

(c) 7580 m? J;s(sno m?

©®



The ratio of the monthly expenses
to the monthly savings of Anup is
S : 3. If his monthly expenses
increase by 54% and his monthly
income increases by 46%, then
there is an increases of Rs. 4,900
in his monthly savings. What was
Anup’s monthly income before the
increase?

IM P ARG @Y HT SHD AIND
9d ¥ U 5 : 3 3| AR S
s @9 H 54% @1 gfg 8 oRi 8
IR SHP! ARYF AT 46% TG T B,
ar SHH! AIS 990 H 4,900 TUA B
gfg Bt 81 9§ | U U &

7 g fha-nr N7
(a) Rs 58,400 (b) Rs 56,400 @

(c) Rs 50,000 (gyRs 40,000



Qol szzz*

AL A

}(x w X%0]

A—sW’RW
8- evunt ff A now defeehwa

Al B - event #f2 hon de}- puges
PCAOR)=P(B)+ B(3) -P(Ane)

:‘20(2_ QL ‘S(q_
B M 39

A basket contains 10 apples and 20
oranges out of which 3 apples and
S oranges are defective. If we
choose two fruits at random, what
is the probability that either both
are oranges or both are non
defective?

TH AP ¥ 10 Ve AN 20 GR B
o9 ¥ 3 99 3k 5 9N @vE g1 I
g9 Ugfeed ©U | & B gAd 8, ol
T G91gET 8 5 ar O SFF SR § ar
a1 R—<rgef 87

136

(a) T

17

(b) a7
e @

435
158

@) 23s



——
A hall 10 m long, 2.5 m high and 4
m wide hasonedoorof 1.5 m x 1

m and two windows of 1 m by 0.50
m. The cost of coloring the walls

Z< and the ceiling at Rs. 12 per sq. m
is:

10 HIex &4, 2.5 #IeY Y 3R 4 Hiex

. 4 P ofca ¥ 1.5 Mex x 1 AR &

lo Udh ATl 3R 1 #EX O 0.50 HeR

N\ o < Rasfeal €1 12 v93 ufa o

,OX'-I)(R +§0H§XQ-§-|§.UX'L Al 3 R ¥ QORI AR Bd I FA
— — I AT &

. (a) Rs 1190 (b) Rs 1230
OO? S)X lL k)9}'Rs 1290 (d) Rs 1330 @



AB is a chord of a circle with

centre O, while PAQ is the tangent
at A. R is a point on the minor arc

AB. If /ZBAQ = 70°, then find the
measure of ZARB.

AB 3% O Tl g @I WiaT 8, Wafd
PAQ, A R ¥ ¥&T 8| R @Y 9 AB
R 0% fdg 81 Ik £BAQ = 70° B, @

/ARB $T H1Y Sd HIfT |
ﬁl\ \_19V110° (b) 125°
(c) 70° (d) 145°

g @



In APQR, S is a point on the side
QR such that PS is the bisector of
ZQPR. IfPQ=12cm, QS =3 cm
and QR = 7 cm, then what is the
length of side PR?

APQR ¥, 4Gl QR W S 9 YIR (B
fig & f& PS QPR &1 wHfgwo® B |
Ife PQ = 12 ¥, QS = 3 |HI 3R QR
;7%% al 4o PR @ wd1g 991

(a) 18 cm (b) 14 cm
(c) 1S5 cm 16 cm



| ) =192
33— 1\

s
Let AABC ~ A@’R and (Area of
AABC) : (Area of APQR) = 121 : 64.
If QP = lu cm, PR=12 cm and
AC = 18 cm, then what is the
length of AB?

HMT AABC ~ AQPR 3R (AABC &I
&%) : (APQR T &3%d) = 121 :
64 2| afe QP = 14.4 ¥ PR = 12

9 3R AC = 18 ¥ & @ AB @I
daTg T 87

2198 cm (b) 16.2 cm

(c? 21.6cm (d) 32.4 cm



Which of the following
statement is correct?

| A boat can travel 30 km

downstream in 6 hours. If it
5 _ l1 can travel 40 km upstream in
10 hours, then speed of stream

is 1 km/hr.
II. Length of a train is 1200

Q‘J metre. If it can cross a 1500
x metre long platform in 120

I. U& 919 ORT & ad 30 f&f &
T 6 B H 9 FR wHeh 8| IR

t/(‘a')fl!either I nor II ?fgém ;}mﬁia;:ﬂ_ﬂﬁ? ::' ES:
(b) Both I and II & wfy 1 f&r /der B

II. U& o9 P @ia1s 1200 Hiex 8.

(¢) Only 1 Tg 1500 HeR T ©ICHH DI 120

(d) Only II dHs H IR IR FHA! 8, A o7 DI

fa 90 & /der B
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52,1*1%1 ) .':2\\

R4

3

=2 Rou#)
= Yoty

If x>0 and x! + x1 < 2, then what
is the value of (x! + x1)! + (x2 + x~2)2
+ (x3 + x3)3 +,.., (x11 + x-11)11 jg;

I x> 0 3R x! + x1 < 2,?ﬂ(x1 + X
1)1 + (x2 + x2)2 + (x3 + X3 +....
(x11 + x-11)11 P AH g-

(a) 4864 (b) 4210
094 (d) 5234

A
o &



Anup can row 33 km downstream

and 35 km upstream in 8 hours.
He can also row 44 km
downstream and 28 km upstream
in the same time. How much time
(in hours) will he take to row 55

km downstream and 14 km
upstream?

T ORT P IR 33 fHi 3R g1
@ Ufdge 35 PN I O 8 o # @
R GHAT 2| I8 A W9 A °URT D
Ihe 44 &N 3R g~T & ufdaa 28
f&h ot 99 X THar 81 98 g
@ Iqa 55 fHAr 3R a~T & ufdga
14 f&N o QT FF A fHan T

(et #) om?
(a) 9 (b) 6
(c) 8 7



In the following figure, MN is a

tangent to a circle with centre O at
point A. If BC is a diameter and

ZABC = 42°, then find the measure
of Z/MAB.

f=1 s #, 0 @% 9@ T @ fdg
A WX U WI ¥& MN 2| 3fe BC
TH Y & 3R ZABC = 42° &
/MAB & HIY ST PIT |

(a) 45° (b) 42°
(c) 84° tdy 48°



C

The expression (x ~J2 )(x -Ja )

Goes through its minima at the

a‘;ﬂ*S.Z. value of x = a. Find the value of
> 28 2a—\/§.
0\ — 24 T— x=awm(x-«/§)(x—ﬁ),ﬂ
= < IRAT 8| 2a- 2 BT AW TG
QA"S.Rza DY |
(a) V2 (b) 1

(d) 0

e
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A bathtub can be filled by a cold

pipe in 15 minutes and by a hot
pipe in 10 minutes. A man opens

both the taps at 7 a.m. and leaves
the bathroom. He returns at the

time when the tub was expected to
be full, but be observes that the

waste pipe in the bottom was open

and the tub was not full. He now
closes it, and it takes 4 more
minutes before the tank is full.
After using the bathtub for 10

minutes, he opens the waste pipe.
At what time will the tub be

empty?

U$H drRIcd & 88 Uiy 9 15 fAFe #
IR T UEy ¥ 10 e ¥ =T o
HoHdl 3| U A Fag 7 99 QI
T Gdr & 3R IRrSH 9 gdl ordr



2| 98 99 9HY 999 diedl & o9 <9
W BN & S $T ot off, AfpT 98
<@al 8 f& Y &1 sufdne gy gar
o7 3R T WRT TEl IT| I TE TH §Q
PN 2dT 8, AR TP WA H 4 fiFe iR
o 81 10 fFe @ fow SR @
SUANT HRA B q1, 98 IURE YISy

2| <9 f&aw s @relt grm?
) 29 minutes past 7 a.m. @

(b) 31 minutes past 7 a.m.
(c) 33 minutes past 7 a.m.

(d) 27 minutes past 7 a.m.



The pie chart given below shows

the number of cars sold in 6
countries. Number of cars sold in a
particular country are shown as a
percentage of total number of cars
sold in these 6 countries.

2 f&ar Tar uig 9 6 QN H 94 S
PRI DI AT guiar 8| fHdr a9y g9
¥ 99 TS PRI B GEAT 9 6 o9 A

I T IR D ol ST D AfAwd D
267 Wy ¥ fearg o 2|
Qq ). Which of the following
——— statement(s) is/are correct?
ﬂ/ x36° I., Difference between the total

/ central angle formed by A and F

and total central angle formed
by C and D is 32.4 degrees.



. If the total number of cars sold

in B, C and E is 12650, then the
total number of cars sold in

these 6 countries are 23000.

frafofag & @ o9 9 $99 &)
g/87?

I. A 3R F gRT 730 G D319 HI0T
a1 C 3R D gRT 73 HoI B
DI B €9 BT AN 32.4 M B}

I1. I B, C 3R E ¥ fad" arelt oI
@ [l WSAT 12650 B, A FT 6
W A 9 fAFT qrelt IRI P FA
H¥&T 23000 B |

(a) Only II

(b) Only I

(c) Neither I nor 11

(_{&) Both I and II



A sphere is placed in an inverted

hollow conical vessel of base radius
7 cm and vertical height 24 cm. If
the highest point of the sphere is
at the level of the base of the cone,
then what is the ratio of the
volume of the sphere of that of the
conical vessel?

IR g 7 | R SR S
24 9 P Jo WG VF@HR UF H
U$H M S @ T 8] Ife M @
Swaq fig 9 & IR @& WR W §,
W M B JYAT T VMHR U D
AT | SUTT AT B?

(a) 63 : 256 ¥) 21 : 64
fr63:128 ﬁl)zlzgs




How many small solid spheres

each of 5 mm radius can be made
out of a metallic solid cone whose
base has radius 21 cm and height

30 cm?

21 99 IR Br 3k 30 ¥ waE
9 U6 U1 & o UG W 5 el
e gt fham B S M §9IT
Had 87

(a) 32000 (4126460

(c) 25000  (d) 18260

®



A cylindrical vessel of diameter 32

cm is partially filled with water. A
solid metallic sphere of radius 12
cm is dropped into it. What will be
the increase in the level of water

in the vessel (in cm)?

32 U WY FT & qoFPR T
mwﬂmﬁwgl 12 I

Brour &1 (e 39 org T Mo gud
. ST OTaT 8] 999 ¥ UF P WR ¥
mﬁﬁmmw

(a) 2.25
(c) 72 ‘/‘%’ 27 @



The average of sixteen numbers is

48. The average of the fierst six of

these numbers is 45 and that of
the last seven numbers is 53. The
seventh and the eight numbers ae,

respectively, 3 and 7 greater than
the ninth number. What is the

average of the ninth and seventh
numbers?

Aielg d&elf &1 g 48 2 399 9@
Ugell BE WEARI @ 3Hd 45 § 3R
Jfaw wg SRl &1 ANd 53 B
Tl 3R ATSdl ST HII: AT T
¥ 3 3R 7 aIfN® B & iR wradf
YTl BT T T 87

(a) 39 (b) 41.5

\Uey30.5 @ (d) 42



In a AABC, the bisector of ZA

meets BC at D. If AB =9.6 cm, AC
= 11.2 cm and BD = 4.8 cm, the
perimeter (in cm) of AABC is:

AABC ¥ /A & §Hfg9o®@ BC ¥ D
W fieiar 81 3 AB = 9.6 ¥, AC =
11.2 ¥ 3R BD = 4.8 9 & @

AABC &7 IRATY (@t #) 2:
31.2 (b) 28.6_
(c) 30.4 (d) 32.8

Yot



The sides AB and AC of AABC are

produced to points D and E,
respectively. The bisectors of
ZCBD and /BCE meet at P. If ZA =

88°, then the measure of /P is:

AABC ! HGll{ AB 3R AC $I HA:
fdg D @R E 9% gmr Wrar §1 ZCBD
IR /BCE & wafgweis ffg P W
fro €1 aft £A = 88° &, @ 4P @

Jd)/46° (b) 56°

(c) 51° (d) 61°



A tangent is drawn from a point P

to a circle, which meets the circle

at T such that PT=10.5cm. A
secant PAB intersects the circle in

points A and B. If PA = 7 cm, what
is the length (in cm) of the chord

AB?

= 10.5 9 2| U
B%d PAB ¥ @ fdg A 3R B W
dlear 2] I PA = 7 9 8 @ 9™
AB 3! &g ({9 #) Far 87
(a) 7.75 (b) 8.5

c) Sé (d) 8.45



A spents 65% of his income. His

income is increased by 20.1% and
the expenditure is increased by
20%. By what per cent (correct to
one decimal place) does his saving
increase or decrease?

,é;f 2¢ A TN AT T 65% @Y HYAl 2
2

SHS! I H 20.1% P G B B

3R g # 20% Pt 3 A B | SHD

god fea wfowd (U@ <vMeT M
F5: qe wd) o @ g ¥

\3-5 '3 (a) Decrease by 17.7%

+ \)(»’ﬁlcrease by 20.3%

(c) Increase by 21.5%
(d) Decrease by 18.9%



In a right-angled triangle, the

lengths of the medians from the
vertices of acute angles are 7 cm

and 4.6 cm. What is the length of
the hypotenuse of the triangle (in

cm)?
TS DI B § =g don @ Ml
9§ AIRISRI o darg 7 9 3R 46

i 8| Bre @ aof 9 dars (@ )

1 87
() > 29 y/m/@

(c) 3.5+2\6 (d) v29






